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(-_f -

10

11
12
13
15
17
i8

19

Z1

23

24

a5

26

27

29
31

CLEAR

INPUT “N=",N
DIM B(N),L(N-1
)

FOR 1-1TO N
READ B(I)
LPRINT “I=?,%:
LPRINT “B(I) ="
;B(D

NEXT 1

LPRINT

FOR I=1TO N-1
READ L(I)
LPRINT “I=";I
LPRINT “L(I)="
s L(D),

NEXT I

READ 1I,M,Q,NC
READ A1,A2,HC,
Y

LPRINT “II-";1
I:LPRINT *M=";
M

LPRINT *Q=":Q:
LPRINT “NC=":N
C

LPRINT “A1=";A
1:LPRINT “Ag="
(A2

LPRINT “HC=";H
C:LPRINT *Y .";
Y

SI—= ASN Ii
A=p,01:D=10

32
33
34

36
37
39
41
42
43
44
15
16
Y

48

49

50
51
52

53
55

52

HK=A
BK=B(1)+2*M % HK
WK = (B(1) +M % HK)
» HK

G-=WK .3/BK -Al12Q
~2/9.81

Go=G

IIK - (A4D)/2
BK-B(1}+2#+#M»HK
WK = (B(1) +M # HK)
#* HK

G=WK .3/BK - Al #Q
A2/9.81

IF ABS G ~0.01
GOTO 47

IF G #Gp)» 9GOTO

46

D - HK:GOTO 37
A=HK:GOTO 37
VK=Q/WK

LPRINT "4 ¢ ¢ s & &
XN f” .
LPRINT USING*

t2s #42";"HK="
;HK

LPRINT “VK=";V

K

IF I ¢ —0GOTO 7

5

IF B(1) <> B(N)
GOTO 74
A_p.01:D=10
H=-A:B=B(1).
GOSUB 300



60
61

62
64

68

69

70

71

72

74

76

77

78

79

80

81

82

83

84

85

86
87

Gg =G
H-(A+D)/2:8=B(
1)

GOSUB 300

IF ABS G 0.0l
GOTO 71

IF G »Go> 0GOTO
T0

N <H:GOTO 61
A=H:30TO g

Vo =V:Ho=1H:
LPRINT “Hg=":;H
0 _
LPRINT “V§-=";V
0

IF B(1) ¢» B(N) -
LET HC = HK % COS
SI

HZ = HC
BZ=B(1):BX=B(
)
L=L(1):WZ=(BZ+
M % 11Z) « HZ
VZ=Q/WZ
LPRINT “I=1"
LPRINT “HZ=";H
Z y
LPRINT “VZ=",V
Z

GOSUB 204
LPRINT “1=2"

LPRINT “HX =",H¢

X
LPRINT *VX=",;V.
X

FOR E=2TO N -1
BZ =B(1) :BX =B(L
+1) '

!4!

88
83
80

23
10
200
202
204
2906

208
210

214

215

216

217

L=L(D:HZ=HX
GOSUB 200
LPRINT “I=%,I+4
1

] PRINT “HX =", H
X

LPRINT “VX =",V
X

NEXT I

END

Z

XZ=BZ+z2&HZ%./(1

+M # M)
RZ=WZ/XZ
CZ=RZ ~Y/NC
VZ=Q/WZ

EZ =HZ#COS SI+A

2%V A2/19.62

IF B(i) <> B(N)
LET EZ= EZ:

GOTO 239

¥ Hp» HKAND HC
<HUKI.ET EZ=-EZ:

GOTO 230

IF {ig <HKAND HC
{HOLET EZ= -EZ:
GGCTO 230

IF Ho <HKAND HC
¢(HKAND HC) HQ
LET EZ= - EZ:
GOTO 230 Tooe
IF Ho =HKAND HC

¢HKLET EZ= —EZ-.

GOTO 230
IF IT=0AND HC ¢«
HKIET EZ= - EZ:
GOTO 230

WZ = (BZ+M # HZ) # H

s

| PR W



219 IF II ¢0AND HC ¢ GOTO 270

HKLET EZ= - EZ; 264 IF 1o = HKAND HC
GOTO 230 > HKLET EX= - EX:
930 INPUT “A=";A.° GOTO 270
D=",D 265 1F Ii=0AND HC)
932 HX =A:GOSUB 250 =HKLET EX= - EX:
234 GO=G GOTO 270
g 236 RX=(A+D)/2: 266 I1F II < QAND HC)
GOSUB 250 HKLET EX= - EX;
i 938 IF ABS G <0.01 GOTO 270
. GOTO 245 970 RP= (RZ+RX)/2
240 IF G#Gp>» 0GOTO 272 VP=(VZ+VX}/2
244 274 CP = (CZ+CX)/2
242 D =HX:GOTO 236 976 JP=VP .2/RP/CP/
244 A =HX:GOTO 236 CP -
245 RETURN 978 G=EZ+EX+ (JP- 1l
50 WX =(BX+M#HX)*H y %L
X 280 RETURN
252 XX =DBX+2#HX#%.,/(1 300 W=(B{-M»H)sH
+M # M) 301 X=B+asHe/(1+Ms
254 RX=WX/XX M) i
956 CX=RX ~Y/NC 302 R=W/X:C=RAY/NC
257 VX =Q/WX 303 V=Q/W R
258 EX=HX#COS SI+A 304 G=WaeCe./(Rell) =
v 2% VX A2/19.62 Q
! 260 IF B(1) <> B(N) : 305 RETURN
s GOTO 270 .. 360 DATA 60,58,5
961 IF HQ» HKAND HC , 6,52, 48, 44,
y HQLET EX= -EX; , 40
GOTO 270 ' . 362 DATA §.,90,8,90
sg2 IF Ho» HKAND HC . ,17.8,17.8,17.
, =HKAND HC ¢Ho 8,17.8
LET EX= -~ EX: .+ 365 DATA 0.2,0
GOTO 270 - ,392,0.014
263 IF Ho <HKAND HC 366 DATA 1.0,1.1,1

» HELET EX = -EX] .632,0.1666667
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1 ENH 4R,
HK= 1.632
VK= 4,001
I=1
HZ-1.599
VZ= 4,084
I=2

HX = (.869
VX= 7.772
= 3.000
HX 0,732
VX 9,552
I= 4,000

i
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.-G
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WoR K

10 “A”CLS : CLEAR 3 ni=";Ni;*
r WAIT ¢ COLOR Gz=",;G2;" n2
9 ' PRINT “n="; =";N2;

20 INPUT N :CLS: 176 LPRINT" a=";
PRINT “GK 7, . Al:" e=";C1

30 INPUT GK-CLS: 180 LPRINT :LPRINT
PRINT “G1="; TAB 2;“I" ,TAB

46 INPUT Gi :CLS: 10;“L";TAB 20,
PRINT “nl="; “G”

56 INPUT N1:CLS: 130 FOR 1=31TO N
PRINT "G2-7"; 200 LPRINT USING;

60 INPUT G2:CLS: 1' TAB 7; L),
PRINT “n2="; TAB 17,G (D)

706 INPUT N2:CLS: 210 NEXT I
PRINT “a =7, 220 LPRINT :GI=G(]

30 INPUT A1:CLS: Y, QA =GL,GI =G (N
PRINT “cm?; | ),8=N1,E=G1,¥ =

90 INPUT C1:CLS ; N2, U=G2

100 L =N1+N2+4+DIM :23¢ D=1,M=N:GOSUB
L@),6N),P(N) 1800 -
,Q(N),GK (L), F( 240 IF GK> QATHEN '2
L),R(L}),B{L) . 60 -

110 WAIT ¢ -FOR Jw1 250 GK<=QA-+E:GOTO 2
TO N - 40

120 PRINT ‘D(*iL*- 260 GE=GK:FOR I=}
Y="; TO N

130 INPUT L(I) - CLS 270 P@ =L 1),Q)
«PRINT “G(";1; =G
“y="; 280 NEXT I:END-

140 INPUT G(1) :CLS 300 “S”COLOR 2:

158 NEXT I GOSUB 2210

160 CSIZE 1:LPRINT GOSUB 1410
n—";N;* GK=" GOTO 300
;GK;“ G1=";(1 310 “D"GOSUB 2170

+ 10 =



320

370

380

390

400
410
420
430

440
450
460

470
480

490
500

530
540
550

560
570

580

\GOSUB 2210,
GOSUB 2240
GOTO 800
*F"COLOR 2:GK-=
GE - GOSUB 2200
IF A~ QAND C=0
THEN 300
B(1) =GK :FOR 1=
2TO 541

B(D =B({-1)+E
NEXT 1

IF Y = 0THEN 460
FOR I1=5+41TO0 S+
Y42
B()-B(I-1)+TU
NEXT 1

IE A AND C3 0
THEN 550

IF C» 0THEN 510
IF A=2AND L{1)
—L(2)THEN 500
GOSUB 1390
GOSUB 1450 :
GOSUB 1410
GOTO 800

GOSUB 1460
GOSUB 14190

IF C=N_ |AND L(:

C) .- L(N - 1)THEN
540

GOSUB 1490
GOTO 800

IF A=2AND LQ)
= L(2}THEN 570
GOSUB 1390
GOSUB 1470
GOSUB 1410

I¥ C=N-1AND L

550
600
640
650

660

670
680

690
700
710
720
730
740
750

760
770

780
790
800

1000

C) =L (N ~1)THEN
600

GOSUB 1490

GOTO 800

“G" GOSUB 2170 °
GOSUB 2200

IF A=0AND C =0
THEN 320

IF Ay QAND C3> 0
THEN 750

IF C» ¢THEN 710
IF A _gAND L(1)
= L(2)THEN 740
GOSUB 1380
GOSUB 1450 ;
GOSUB 2240
GOTO 800

GOSUB 1460 :
GOSUB 2240 -

IF C-N_-]AND L{
C) =L(N- 1)THEN"
740 B
GOSUB 1480

GOTO 800 - 7
IF A=32AND L(1)
=L{(2)THEN 77b ~
GOSUB 1380
GOSUB 1470 : A
GOSUB 2240

IF C=N-1AND L(
C) - L(N-1)THEN
800

GOSUB 1480

BEEP 5,100,500

- END
F=0,B-0,X=0,
H=0,K=0,Q=1,
G=~E:GOSUB 18

011-



40 70 7 GOTO 1220
101 IF 5i- DTHEN | 1zin K G,H=0,.0=(L
059 (DY —L{(D-1})) »
1020 FOR 4 =D+ TO KGO -1} G
Wi . : D))  GOsSUB 1§ .
1030 GOSUB 1860 70
1040 NEXT 1 1920 IF GD - gOR GD
1050 GOSUB 1850 : y  GKTHEN 125
1060 IF GD =0OR GD o
y = GKTHEN 168 1330 JF GK»> =GDAND
0 , GD> GK -GLET
1670 IF GK»> GDLET X-X4+GD -GK:
X X4GD-GK GOTO 1250
1080 IF GC QOR GC 1240 X-—-X-G
» . GKTHEN 110 1250 F=F+Bl+G,H=C
0 1260 IF M= WLET K =
1090 IF GK) GCLET 0 GOSUB 1580
X X4GC-GK o - GOTO 1330
1100 GOSUB 1880 1270 K. GK-G(W-1);
RETURN i re GOSUB 1580
1120 IF GK3y GIOR G ~ 1280 IiF M -W=I1THEN ~ .- .
Ky GITHEN 137 1820
0 s 120 FOR 1-W+:iTO -, -, .
1130 T--D,W -M,G3=G . [ Lo
+GOSUB 17060 ., - : 1300 GOSUB 186D
1140 IF T-:DTHEN 1 - . j310 NEXTI P
210 I 1320 GOSUB 1850
i150 COSUB 1840 I 1330 IF GC~00R.GC -
116¢ IF T-D=1THEN o » -GKTHEN 136 ~
1200 y - 3 “
1170 FOR I -D4+1FO:, . 1340 IF GK»> =GCAND
T-1 GC»s . GK-GLET
1180 GOSUDB 1860 . . , X+ X4+GC -Gy o
1i80 NEXT 1 . 3 GOTO 1360
1200 K G,Z - (L(T) - . 1350 X. X-G
L(T -1))/(G(T o T 1380 G=03:GOSUB |
-1} -G (T)) » (G L 880
- H) . GOSUB 18 1370 RETURN

112.



1380 GOSUB 1400 P TR G G )

GOSUB 2240 : Livy P(C),G(
RETURN vy - Y, oM p 3
1390 GK:--Q(A1) - € GP.0G -G1-
GOSUB 1409 PETUSN
GQOSUB 210+ 1470 CSIZF 2 -
RETURN LPRINT TAT 5
1400 CSIZE 3: VRV L O AR
LPRINT TAB 5 2,80 CA,GC G
;A V=A+1,G : R, L1} . P(A).
C -GA,GD=0.1L( L 2,8 -V,0 A
V) -P(A),G(V) GOsuUB, 2070
- GI : RETURN P75 VO VAH1L,L(V) D
1410 GK=GE-GOSUB (©),c(vy CI:
1770 +GOSUB 1 nnTORY
000+ N1 =5,G)1 = 1480 &DSUR 596
E,NMN2=Y,G2=U, %08 22140
G=E:GOSUB 16 RETURN S
10 1490 GA Q{C1):
1115 IF N2=0THEN , GOSUB 1500
1440 : GOSUB 271207
1420 G G2:FOR J-=3 RETUERM
TO N2 Co 1500 CSI1ZE y: T
1425 GK=GK4+G: - LPUINT TAB 5~ 5 e ™
GOSUSB 1120 o ;"C7 V=N -CH2
1430 NEXT J T ,GD =GB, GE 0, . ;¢
1440 GOSUB 1900 o GA -GB,L-2,P.=.+ 7.0
RETURN P N V,0-~C1GOSUR. .. 4
1450 CSIZE 3: oo 2370 L(3) - P( T
LPRINT TAB 5 - LT C):RETURN
;"Ba” : V=N-A+ = ] 1510 FOR I.=VTO 1
2,L(1) =P(A}, . STEP - |
G G1,GD-=GA,G . 1520 IF G{D)» -GK
C-0,L=2,P-V, ' AND G( 1) ¢=
0-A:GOSUB 20 GKTHEN 1540 - .
70 *RETURN . S 1530 NEXT 1
1460 CSIZE 3 1520 M=T.1:7200 1T
LERINT TAB 5 1TO V

.13



1550

1560
1570
1580

1610
1620
1639
1700
1710
1720
1730

1740
1750

1760
1770

1780

1790

1800
181¢

IF G(I})» =GK
AND GK; -G(I-+
1YTHEN 1570
NEXT I
D=I+1:RETURN
Z={L(W.+1)-L(
W)/ (G(W- 1) -
G{(W)) » (G -K):
GOSUB 1870
RETURN

G =G1.:FOR J~=1
TO Nl
GK=GK:G:
GOSUB 1120
NEXT J:
RETURN

GOSUB 1510

FOR I=DTO M
IF G(I)) GK
THEN 1750
NEXT I.

GOTO 1760

GK -GK +G3,G=0
+ G3:GOTO 170
0

GN =GK:RETURN
GOSUB 1700:Q
A :-GIL;:GOSUB 3
200:GOSUB 20

60
F=0,R=0,GA -Q
(A1), GB=0Q(C1
},GK=0A
GOSUB 1890:G
K=GN:RETURN
FOR I=DTO M
IF G(I) > QA
THEN 1830

014.

1820
1830

1840

1860

1870

1880

1890

1840

QA =G (D)

NEXT I:
RETURN
H-0,K=GK~G(D
):Z-= (L(D) - L(
D-1)) «K/(G(D
-1} -G()).
GOS5SUB 1870:
RETURN
K=0,Z=(L(M+1
) —L(M)) » H/(G
(M+1)-G(MY):
GOSUB 1870:
RETURN
K=GK-G{(I).:Z=
LD -1{d-1):
GOSUB 1870:
RETURN
F.F-(H+K)s2Z/
2,B-B+Z, X=X+
S{Z A2+ (H~K) &
2y, H=K; i
RETURN
R=F/XGK(Q) = -:
GK,F(Q)=F,R(
Q) -R,Q=Q+1,B
1--B

CSIZE 1:
LPRINT GK;

TAB §;INT (F
*10)/10; TAB/.
18;INT (Re 10
0)/100;TAB. 2.
5:INT (Fe Ry (
2/3)) :RETURN
GRAPH ;CSIZE
1:GLCURSOR (
4, - 230},



1905

1910

1915

1320
1925

1930
1935
1940

SORGN:
ROTATE ¢:
LINE - (0, —20
), 53 LPRINT *
0":1Q=0Q~1:
ROTATE 3
LINE (0,0) - (
200,0) :LINE
(100, 4) — (100

, — 4) tLINE - (
100, — 40),9
LPRINT INT (
F(Q)/2):LINE
(200, 4) — (200

, —4) {LINE - (
200, —40),9:
LPRINT INT F
(@

ROTATE 0
LINE - (208, -
20),9:LPRINT
“F* :LINE — (2
08,15),9:
LPRINT “R”:R
A0

FOR 1=1T0 Q
IF R(I) ¢RA
THEN 1935
RA =R
NEXT I

ROTA 3:
LINE - (104,5
},9:LPRINT
INT (RA »35)/1

- 03 LINE - (200

,5),9:LPRINT
INT (RA »10)/

14

1945

1950

1860

1970
198¢

1990
2200
2010
2020
2030

20440

2050

LINE (0,0 - (
0,200):

ROTATE ¢
GLCURSOR (0,
5):LPRINT QA
"LINE (0,100

) — (5,100):
LPRINT INT (
GK(Q) + QA) /2
LINE (0,200}

- (3,200) %
LPRINT GK({(Q)
<LINE - (3,21
0),9: LPRINT

“gr

GOSUB 2050:A
Q=1 A
GOSUB 2250 o
LINE - (D10,
M), 9:LPRINT E
“G _ "

FOR I=1TO O
FI) =R(D

NEXT I

ROTATE 0:
GOSUB 2050:K

X =200/RA

Q -Q-1,AQ=3:
GOSUB 2250

LINE - (D =190,
M), 3:LPRINT
*G - R":TEXT:
COLOR 2'LF 1
4:RETURN

KX =200/F(Q):

KY =200/(GK(Q
)-QA) D=0, M=
0:RETURN

+ 15



